el 12

Tfadi <=nfafd < ="

(Introduction to ThreeDimensional Geometry)

«*Mathematics is both the queen and the hand-maiden of
all sciences — E.T. BELL %

12.1 sftreRt (Introduction)
70 WA 2, for fordlt a1 o feom w fag @t fearfa frefoor
& fou & 39 9a 9 3 WOR @9 19 yiaesied et 9
ifereh 3 k1 STewaehar it ¢1 37 @ sl frdeme 3R
39 3 difae 3Rl & s o Gy 39 fog o fRems
(coordinate) sed B Srfaes Sited § BHRI sheel Teh aal
¥ feord foigetl @ € Hewr & ® a1 1 SSME0E: SAdRa
o Ther T TF Tig & fafr v H feufa steen w wm
¥ W TWIE d% WA o SWHE argAE w1 Th
faferse g o feerfq onfe, 1 off ST 1 STTervashdl e 21 L eonhard Euler
(1707-1783A.D.)

T YR Toh AL i Bd ¥ Teehd gU T fogd acd
1 frerelt ik 1@ ©d o 9@ hi w1 fearfa @1 fraio 9 o6 foe g 39 gt
F T RN A9 aR ¥ R 9§ v T afew 5@ g Y, FW R e 9
S, T A STERIRA TSdl ¢ 3T: TH e a Tl dfed d WeR difas qell 9
iered R W e s o fog o genst w1 srevesha g §, S fag #1 Q
TER T AR AT, 1 3T HE o B F SHAE I A HI & | HE H IR
e R qen 39 Afast 1 By A TR yiiesfd ® ol 96 €1 3 e gl
HE A qell ¥ od IRE hl e F el dF Gt 39 65 % ffF e aat
o grier Frdvnier seeld ¥ 39 YRR el (space) B feord ww fog & o e
T ¥ 39 1o ® v fafaria siafker § sanfufd ) gets Seheuet 1 stemE S|
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122 fafada siafter o F&oner ok fEvner-aet (Coordinate Axes and
CoordinatePlanesin Three Dimensional Space)

foig O W yfi=sfd w& are dF WeR o9 qal

1 Hed HIFSY (Apfd 12.1)1 I i qd ,%\ X'
W@ X'OX, Y'OY 3 Z’0Z R yfa=sfed A
T o e x-31e1, y-31er 3R z-378 Fed o 174
T TG 3Ed © R 3w weR @ g ST
3% 0 wHeRITuTeR Trdvries e FEd 21 XOY, v «—f - >Y
YOZ 3R ZOX, 7 %1 wwr: XY a1, YZ-e, [0
A ZX-dqed, Fed &1 A dA qel e 7
FHead 2 A

TH IS o 9 H XOY dd od 21 3R X v
Z’0Z W@l &1 dd XOY W waad o &1 af A
FHTS ok qel o &fderd: W al Z'0Z [ FHeaid: AMeRfa 12.1

Bt 1 XY-aet § OZ % faen & SR i 3R =t

T 3@ e iR OZ' &t faen & e Y iR A T it wmomees @it €1 Sk
IH YR ZX-ql o <ifed OY faen & At 7€ gl emrenes iR ZX et o &g oY
1 feen & At 7 AT BoneH Bt €1 YZ-d o weg@ OX e ® A wE g
e de 9ok W OX' & faen ® =t ¢ it swomenss et 71 fig O Fdenss
e 1 ge foig wed € A frdenss qot efafter i e 9 | wied ¥, g sreerel
@ 9™ XOYZ, X'0OYZ, X'OY'Z, XOY'Z, XOYZ', X'OY'Z', X'OY'Z' 3R XOY'Z' €l
IR 9= Hmr: 1,01, 11, .., VI BH FeRia 3 R

123 3iafer ¥ wek feg o fdvner (Coordinatesof a Point in Space)

fafer o fafeea faderedl, Frdene qail oik ga foig afea Frdener frehm o =2 o Tw=mq
feu foig o = e (x,y, 2) F 910 ®A F1 fafy qen faetva: 99 gemnet & s
(Triplet) fiu M m siafler ¥ @d f63 (x,y, 2) & FaRor & =t fafy ) o190 &n
forear @ = w3 €

sfafer § KU ¢ foig PH XY -9 W PM el Z 'l;(x’y’Z)
e & g 75 M ? (eTehfa 12.2) 1 @a M °
3181 W ML ol ifew, it 388 L W fiemar 21 3 5
WY OL=x, LM =y 3R PM =zq4 (x, y, 2) fag i Sy
P fidener weam &1 T9H xy, ! wEen: fag P /0 :C 7
o x-frdwms, y-fdwms, qan z-fewms u.o-. Pournn v
FTd 31 aafa 12.2 % gn dwd 3 fw fag KL (x}‘i 0)

P(x, Y, 2) 3791 XOYZ ¥ feora 8, 3m: x, y 3Rz X
e e 2| AMeRfa 12.2
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Ifg Pferelt o oyl ® @ di x,y 3R zoh g aegaR uRafdd e 9 €1 36 ¥R
siafRel | feora fordt fag P &1 Wiaan arsdfas @enet o wiad Bf<® (x, y, 2) 9 foma

ST B z
foetma:, fodt f&fsw (x, y,2) & fsu '\C
M W H X o 9 x-31§ R fug L FuiRa A £

T €1 T XY -aa ° fag M Feifa =@ 2, F R P
et gHer F (x,y) 1 = S LM :

O >Y
AT x-3 T T T A y-3F& S HHIR g'xﬂ ..... 51> B
21 foig M R 9g=7 o 9ve 89 XY -dd W A D
MP @ ©ied ¥, 38w fog P&l zoh T .

faefor @ €1 39 weR frwifa fag P &
e (x, v, 2) Bl o1a: sfaRer  feerg foigeti =1 amafas deme & wima Hifs
(X, Y, 2) 9 G Toheh-F7Tadl W& 2|

faeheua:, saRe o ferd fog P ¥ 7w fdwne 9ol & @ & qa di=d €, S
X-318, y-3e AR z-31e H wA: A, B aen C fageti W gfoesfed ww @
(ameRfa 12.3)1 af& OA=x, OB=y @& OC=z&! dl fag P & fduer x, y iR zew
g 3 3H 81 P(X, Y, z) & &9 ¥ forad €| foeima: x, y @i z o {0 1 W e fduned
w fag A, Baen Cfruifa sd €1 fsig A, Bden CH &0 HHY: YZ-ddl, ZX-ad qe
XY-Te & GH@ FF da Gied &1 3 A qell s ADPF, BDPE den CEPF
Hiresed fag Tred: PR, S siva-fiike (X, y2) o 9 2l
&1 <@d § T afk sfalter § &g fag P(x, y, 2) ®, @ YZ, ZX @2 XY qell § wiaed gt
HUI: X, yql z 2|

fig O % frderier (0, 0, 0) ¥l x-a1&l W feora foreht foig & firdwri
(x,0,0) 3R YZ a1 | feerq forelt foig o fdeniss (0,y, 2) B Bl

R R S B v e i e e Y e
2| Frefafaa aroft a1l el § fevrmeni o fag <wid 2
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| 12.1
f\é;\«* | I 11 v | Vv VI VIl | VI
X + - - + + - - +
y + + = = + + - -
z + + + + — - - —

SETET0T 1 3Mepfa 12.3 ®, Al P ok féwies (2,4, 5) €Al F ok fadenies @ wifsu)
gl fog Fop forw OY o srfer Ardt T < 3= ?1 ema: Fos fden (2, 0, 5) R
SETETUT 2 o Tse I ifery fod fag (-3, 1, 2) @ik (-3, 1, -2) fem 2

T 9RO 121 9, 95 (-3, 1, 2) 3 1w ¥ qen f§5 (-3, 1, -2) B T=iw H
feora 2

| worerett 12.1|

1. U foig x—31e1 W feord 21 @k y-fdunian qen z-fadene =0 @2
2. U fag XZ-—aa 9 B| sEeh y-F1eeier o R W 9 1 hE HWehd €2
3. S TN o AW "ary, T fretatea fog feem )
(1,2,3), (4,-2,3), (4,-2,-5), (4, 2,-5), (—4,2,-5), (— 4,2, 5), (3,1, 6) (2, — 4, —7)
4. f&@ e =1 9fa Hifea:
(i) x-31e1 3R y-2781 I Th WU el X TH qod 996 €, SH ad Hl

Fed Bl
(i) XY-7a & wh fag o i ®9 & B B
(i) Trwies qo sfafer =i sy o fawfsa st 2

124 =Y fagan o ser =t 0 (Distance between Two Poaints)

fferdia fdwrien frerar & &o < forgefl o e 1 < 1 e1eaeq 6t g ) oTRT o
A 10 1 o T e fre & faw & 2
M e, weifoes s\ OX, OY @en OZ & @ = fag P(x, y,, z) a0

Q (X, ¥, ) &
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Pden Qfegsti & fdens aei & Z
A dd wifeu, fSed ed tE wy
fyerar & oot fasof PQ 2 (3fET
3ehid 12.4)

FifH LPAQ TH HHHIT 2
s/l PAQ H, P 905 A
PQ? = PA2 + AQ? .. (D)
TH: s LANQ = Tsh HHHI, >Y
zHfeal ] ANQ H,
AQ? = AN? + NQ? - (2)
D) R Q)T e, fF X ATFT 124
PQ? = PA?+ AN? + NQ?
s, PA=y,—y,AN=x,—x IRNQ=2-2
T THER, PQE = (X, — X2+ (Y, - ¥,) + (2, — 2)?
ox: PQ = (%) (Y, ~¥1) 2 H(2-7,)°
7e A fagel P(x, y,, 2) ARQX, v, 2) F = * T PQ o T T <
faeima: afix =y, =z =0, #1¥iq fag P qa1 fag O =t @
X Y, 42, s
fore = et g O i forelt firg Q (x,, y,, 2) & 1= 1 gt et @it 21
saretor 3 fageti P (1, -3, 4) @R Q (-4, 1, 2) o = &1 g0 d wHifery
gel PQfsgati P(1,-3,4) 3R Q(-4,1,2) o = &1 g 2

PQ = \/(-4-1)%+ (1+3)%+ (2— 4)°
= [25+16+ 4
= J45 = 3,57
IETETOT 4 <WIEE TR P (=2, 3,5), Q (1, 2, 3) 3R R(7,0,-1) §@ =
Tl B9 9Md © fop ot g, ww &t w fee e 2

il PQ=/1+2)%+ (2-37+ (3-5° =/9+1+4 = 14
QR = (7-2%+ (0- 2%+ (-1-3)° = /36+ 4+16 = /56 = 2414

N
7z
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R PR = \/(7+2)%+ (0-3)%+ (—1-5)2 = 1/81+ 9+ 36 = 126 = 3J14
T9 ¥R PQ + QR = PR
ad: fag P Q @iRR =@ €

ETET0T 5 7 a5 A (3, 6,9), B (10, 20, 30) 3R C (25, —41, 5) Tesh WHeHI0 B9l o5
3 =7

T -9 9 e ura g @ R
AB2? = (10 — 3)2+ (20 — 6)2 + (30 — 9)2
=49+ 196 + 441 =686
BC2= (25 — 10)? + (— 41 — 20)2 + (5 — 30)?
=225+ 3721+ 625 =4571
CA2 = (3—25)2+ (6 + 41)2 + (9 — 5)2
= 484 + 2209 + 16 = 2709
9 UM € T CA2+AB? % BC?
3d: AABC T FHehiol Bt &l 2|

SaTetur 6 3 figeti Aden B ok fdenes %us: (3, 4, 5) 3R (-1, 3, -7) #1 fasfiat
fSg P T &1 WHIIU A1@ SifST, SEfh PA2 + PB2 = 2K2.

& J faeier fag Pas e (x,y, 2) 2l
SEl PA2 = (x=3)?+ (y—4)>+ (z-5)
PB? =(x+1)>+ (y—3)*+ (z+ 7)?
fau My wfdary & @R, PA%+ PB2= 2k2, B WId Bl &
(x=3+ (y =4 + @=5F + (x+ I + (y= 3+ (2+ 72 = 2
A 2+ 2y% + 22— Ax — 14y + 4z = 2k* — 109.

[ womaett 12.2]
1. Trafafea fag-gmi o o= &t g0 9 Hifee:
() (2, 3,5) 3 (4,3,1) (i) (=3,7,2) 3 (2, 4,-1)

(i) (=1, 3,—4) 2 (1, -3, 4) (iv) (2,-1,3) 3R (-2, 1,3)
2. =uigy fo f&ig (-2, 3, 5) (1, 2, 3) 3R (7,0, -1) ®@ 2|
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3. Trfafed =1 ety wifsa:

(i) (0,7,-10), (1, 6,—6) 3R (4, 9, — 6) T THlgaTg F19yst & ¥fid B
(i) (0,7,10), (-1, 6,6) 3R (4,9, 6) TH THHI B9l o 7 €|
(i) (1,2 1), (1,-2,5), (4,—7, 8) 3R (2, -3, 4) Tk THIM =qyl o vid 7|
4. o foget o Wg=EA &1 gHERO A@ sifew S fag (1, 2, 3) @R

(3,2, -1) @ guEwy 2l

5. fegel P4 o+ wyee 1 GHiehor 91 sy et fageti A (4, 0, 0) 3R B

(-4, 0, 0) ¥ & =1 Fnha 10 21
125 fawrs 97 (Section Formula)
T it fgfardta snfafa & go= o €

fhd YhR HHIUTh hidid e § T 3@
we F i s F s e e e
o fdenier 1 %d €| 319 B TH el i
forear Torferdftar s=nffa o fow & €

A ety sHafte § <1 fag P(x,y,, z) @
Q (X, Y, 2) §1 7 R(x,y,2) @ @€ PQH
m: n 31U o 3 fawifs s 81 XY -aa W
PL, QM 3R RN &« @ifea) s7eed: PL 11 QM
11 RN ® 21 39 o9 ofeil o u1g XY —del | feora
& fig L, M 3k N 39 T R feord & it 39 9@

Yzt
7

/VM

L N

3MRfa 125

3R XY - o Gidesed | odt €1 fig R @ @ LM @ @i @ ST @ifay) ST
W ©iw T @a o qd | feerd @ aen @ LP (feaifid) @ SR MQ® T W

Hiesiea dl 81 S| STehtd 12,5 H YR 2

Ty =9d9S LNRS 3R NMTRAHR =g €1 faeil PSR iR QTR ©td: Tued

NR-PL z-Zz

g gHfer

m_PR_SP_SL-PL _

m TOR QT QM-TM QM-NR z,-z
39 JhR L RALY

m+n
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3 T YHR XZ-qd 3R YZ-9a1 R &a Wied W 28 W g 2,

_my, +ny, s X = MX, + NX;
m+n m+n

sm: fag R S fag P(x, Y, 2) 3R Q (X, Y, z) & foa™ a1at W@ @ =i
m:neh IFUE o 3fq: fauis s €, & e 2,
m, + X, My, + Ny, Mz, + N
( m+n '~ m+n m+nj
It fag R, W@ @ PQ &I m: nud ¥ aral fasfsra s¥ar &t df guer fdens
STda P | nehl -n W foeentia wieh urw fRT STd #1 39 WehR Re fdene @i,
[Wz—n&’wz—nyl,mzz—nzlj
m-n ' m-n ' m-n
frarfa 1 mea-fog o Fewis afk R, t@m@e PQ# 9ea-fag 8 @ m: n= 117 W
+ X Yo+ Y +
X=X12 2 y= 12 23ﬁ12=¥
T P(x,Y,2) 3R Q(X,Y, z) ® fHam ot W@ g & ww-fag o flws ¢
frafa 2 @ @ PQ® k: 1 & 19 o 3fd: famfsa & ot fag R&% fdens

kz% T W Y T s Hehd @

kKXo +% Ky, +y, kz+7

Wk T vk ok
IE qRoTm g ] faget wi e el @ R A 495 adt g9 o 8 e °
T Fe
saretor 7 faget (1, -2, 3) 3R (3, 4, -5) ! foe ¥ =9 Y@ @e #i ouE 2:3
H (i) 31q: (i) 9y famfaa &@ ot fog o fdens 3 wifs)
g (i) 7 AT P (X, y, 2), A (1, -2, 3) 3R B(3, 4, -5) %! foet =1t Y@ @ i
#a: 2:3 ° faws = B

_ 29431 _9 | _24+3(-2) _2 _2A9+33 _-1
ERISL 753 5777 23 5’3ﬁTZ 2+3 5

a1d: ervfie faig (gé%lj 2l
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(i) = <Y P(x, Y, 2), A (1, -2, 3) 3R B(3, 4, -5) *! Toe™ aret @ @S i
IR e 2: 3 W o fawe e 2
o2+ _ 5 29+ _

e, 2+(-3) ’ 2+(-3) ~l4
_ 29+ (=30) _
M Y R

aa: i fafg (-3, -14, 19). 21
IaTeT0T 8 fa9SE g w1 W ek fag wifse fa f§g (-4, 6, 10), (2, 4, 6) 3R
(14, 0, —2) §@ 2
T °F T A (=4, 6, 10), B (2, 4, 6) 3R C(14, 0, —2) fau w7y faig € om <fifsg
fag PAB I k: 19 fawifsia s 21 df Poh fadene 2:

2k 4 4k 6 6k 10

k 1k 1" k 1
Y 37 B Si" w1 R kh fRet A o forw fag P fag C & ot €

2k-4
<14 T W T e § k=
k+1 2
3
4(-2)+6
EE =-3@a 20— 20 g
2 k+1 _°n
6(— >)+10
ek+10 O(=5)+
S k+1 3 =2
—§+1

THfAT C (14,0, —2) 9 55 & St AB ! 3: 2 o1uid o ael fawer shiar @ iR =l P
gl e@: A,Bd C W@ 2|

W9ﬁq§m¢3ﬂﬁ Yy Z), (X Yy Z) T (X, Y, Z) §1 SR hEsh
(Centroid) o [ El'l?laﬁ'ii'rlﬂ(lx Yo 2 0¥ 2) U Y %)

Tol AE e ABC T feqst ® fower @i A, B, CoF fen® wmwn: (x,, v, 2),

(X Vp Z) T (X, Y, 2)), B
I Wi BC %1 weA-fag D 81 swfem D& freema &

Xot X3 YotYs 2, +7
2 ' 2 ' 2
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AT B9 1 gk GBS Afeasht AD S 31d 201§ faueH i 21 9iee G &
s 2
X+ X3 Yo+ VY3 LHt4
2(2 j+x1 2(2 j+y1 2(2 j+z1
2+1 ’ 2+1 ’ 2+1

()(1+X2+X3 YitYotVYs 21+22+23J

3 ’ 3 ’ 3
saretor 10 fage (4, 8, 10) 31k (6, 10, -8) ! fielH a1t Y@ @, YZ-d g1
5@ e o fawesd g 2, S9 o ity
gl HA wifee YZ-aat fag P(x, y, 2) W, A (4, 8, 10) 3R B (6, 10, —8) ! fHer= aren
@ @ & k:1¥ fave st 21 q fag Pop e 2

(4+6k 8+10k 10—8kj
k+1' k+1 ' k+1

Fifes P, YZ-70 W feorm ¢ s@fem sweht x-fenms o= 2

Bl

4+6k=0
k+1
Rl k=—§
THfT YZ-ac AB I 2:3 o U W aTel fasfsd e 2

| wommeet 12.3]

1. fagewi (-2, 3, 5) 3R (1, -4, 6) i fqer & o+ @1 @e &I gua (i) 2:3
H 3fa: (i) 2: 3 § ar@: famfsa w0 ot fog & s 3@ Fifs)

2. T e @ T 65 P(3, 2, -4), Q(5, 4, -6) 3R R(9, 8, -10) W@ & €
U Fa Hifee s Q, PR fawifsa shar B

3. fegati (-2, 4, 7) @IR(3, -5, 8) @I e el W@ @e, YZ-aa ga o™
U o faver eran €, 39 A shifer)

4, faasE g3 &1 gAE weh @Rt fE 695 A(2, -3, 4), B(-1, 2, 1) @

c[o,%,zj ¥
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5. P(4,2,-6) 3R Q(10, -16, 6) = ToaM =il W@ @ PQ i &\ - wifer
F 9t fagett o fadenes @ Hifu)
fatferer 3ergvor

SaTEToT 11 T9isy R f§ig A (1, 2,3), B (<1, —2,-1), C(2,3,2) 3R D (4,7,6) Th
TR Fgs o I T WY TE TH 3 T 2

& 98 <M o fog fof ABCD Teh TR =g 8, o6 T @ qeietl il TaE e
1 AT B

AB = \[(-1-1)2H(-2-2)%+(-1-3)® = \[4+16+16=6
BC= J(2+D)*(3+2)%+(2+1)? = J9+25+9 = /43
CD = /(4-2)°+(7-3)%+(6-2)% = J4+16+16 =6
DA = \/(1-4)%+(2-7)%+(3-6)2 = /9+25+9 = /43
ifs AB = CD 3R BC = AD, safeit ABCD T% Tuiat =g 2

319 9% fag & & fau fF ABCD od 961 8, &9 fe@m ? f& sueh fawol AC
AR BDE9HA & ©, B U © :

AC = |/(2-1)%+(3-2)*+(2-3)?=\1+1+1=4/3
BD = \/(4+1)2+(7 + 2)2+(6+1)® =25+ 81+ 49=,/155 .
Fifs AC#BD | 31d: ABCD T 3T9d &l 2l

| @ Tt | foshol AC A= BD TR wfgwIfod #3d €, o 07 1 W Hh o
ABCD ! "R =Iqys firg feman S wewar 21

Saretol 12 65 P o7 GYeed 1 GHeRI0l S0 HITST S 39 YehR werdl € foh Sqent
fageti A(3, 4, -5) @ B(-2, 1, 4) ¥ 30 ¥4H 2|

&l i fag P(X,y, 2) 39 YR € 5 PA=PB
1 JX=3)%+ (y=4)%+ (2+5)% = \J(x+2)%+ (y—1)*+ (z-4)°

eIl (x=3)>+(y-4)°+(z+5)* = (x+2)°+(y-D>+(z-4)*
a1 10X+ 6y —18z—-29=0.
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SETET0T 13 U Y ABC w1 &g (1, 1, 1) 81 3% A @R B & féwne %asn:
(3,-5,7) 9 (-1, 7, —6) 2| fag Cor fdunier wma wifem)
T WM Coh TR (X, Y, 2) © S ohgeh G o fdene (1, 1, 1) fau 2

X+3-1
ESIlY

=1 = x=1

y—5+7
3

=1 @y=1

Z+7-6

=1, = z=2.
3d: Cok e (1, 1, 2) 2

g 12 W fafay goraet

1. HuiR =qs & o 9t A(3, -1, 2) B(1, 2, -4) 9 C(-1, 1, 2) 1 = e
D o fiiener A wifsm)

2. TH Ty ABC o ¥l & fiemes waen: A(0, 0, 6) B(0, 4, 0) @=n
C(6, 0, 0) B1 Frqs =1 wifeashet 1 @arg 1a Hifery

3. A 399 PQR 1 s ot fag 2 3R 3fid P(2a, 2, 6), Q(-4, 30-10) 3R
R(8, 14, 2c) ¥ dl a, b 3R ¢ AF T Hifey

4, y-19 W 3IF fog o e 9@ wifsw o=t 693 P(3, -2, 5) & g0
502 @I

5. P(2, -3, 4) 3R Q(8, 0, 10) = T el t@mEe W frox s fog R &
x-féuier 4 21 foig R o fdenies s shife)

(Ferd A efifS e R, PQ &1 k: 19 fawfem wtar g1 fag R o fdens

(8k+2, -3 ’10k+4j )

k+1 k+1 k+1

6. =fe fag A @R B wa: (3, 4, 5) @1 (-1, 3, -7) &1 =R fag P gr ffda
Teed | Gatud R 91 iy, @ PA2+ PB2= k2 STl k 3R
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aRTIT
¢ Tforfta senfufd o5 wwshiftren widte feens e | fHeems dF weR deaq
Erd gt
o fderiel & g, 9 qo1 Fruffa s @ 5= fdener 9@ XY -9, YZ-qa o
ZX -t hed €l
o < faderier a1 eidlier i TS 9NN § sied B 5 oTeeT9r hed €
o fafordia sfafa & fdt fag P frdensnt &1 O<a w B S (x,y,2) & &9
A foran S 21 7@l x, YZ-9a 9, y, ZX dd ¥ 9 z, XY 7 @ 0 =)
¢ () x-219 W Tt fag o e (x, 0,0) 2l
(i) y-31e1 W fepedt fag o fenss (0,y, 0) €l
(i) z-311 W R fog & o (0,0, 2) B
¢ < fgsl P(x, Y, z) 7 Q (X, Y, z) & o9 F1 g T &
PQ Vi x)? (%, W? (z 2)?
¢ T fagei P(x, y,2) & Q (X, Y, z) & HaM o W@l @ & m:n
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